All Aboard!

An activity for 2 people

Materials What to Do

Use \_». Model each story. Show your partner.

1. Atrain can hold 6 passengers in each car.
\ How many cars do you need to hold 10 passengers?

. . A'train can hold 10 passengers in each car.
Color Tiles How many cars do you need to hold 44 passengers?

Show Your Work

3. Aftrain can hold 5 passengers in each car.
How many cars do you need to hold 33 passengers?

. Atrain can hold 4 passengers in each car.
How many cars do you need to hold 25 passengers?

. Atrain can hold 5 passengers in each car.
How many cars do you need to hold 18 passengers?

. Atrain can hold 10 passengers in each car.
How many cars do you need to hold 39 passengers?
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Why does 1 car in each train have fewer
passengers than the other cars?

Grade 4 e Operations with Numbers Differentiated Math Centers




Skill Practice

Draw a picture to help solve each word problem.

. A boat can hold 5 people.
How many boats do you need for 13 people?

. A boat can hold 3 people.
How many boats do you need for | | people?

. A boat can hold 6 people.
How many boats do you need for 22 people?

. A boat can hold 4 people.
How many boats do you need for 3| people?

. A boat can hold 10 people.
How many boats do you need for 55 people?

. A boat can hold 2 people.
How many boats do you need for 9 people?
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